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. CuSO, 4dlall Lulaill iy 1S 0 N =0.02 MOl L a8 A0S juiansi -]

. hiall Wl e n = 0.5 Mol W )8 4sS juaai D

.M(H) =1 g/mol « M(O) = 16 g/mol « M(S) =32 g/mol « M(Cu) =63 g/mol : T~
. p(H20) =100 g/L
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: CUSO, 4élall ulaill sy 5 (1o 0 = 0.02 MO| W )38 4paS jucansi -]
: CUSO; = N =0.02 Mol 4| sall 41T Y ) o -

- m(CuSO,) =n(CuSO,).M(CuSO,)

: CUSO, Lsbaill ey €1 4] gal) ALK Crens -
M(CuSQO,4) = M(Cu) + M(S) + 4 M(O) =63+ 32+ (4. 16) = 159 g/moal

m(CuSO,)

n(CuSO,) = M(CuSO,)

DAl

m(CuSO,4) =0.02.159=3.18¢
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: hidl clall e n=0.5 mol 84S juaas o)
n(H,O).M(H,0O
V(0 = "H0) M(H:0)

p.V(H,0)
M(H,0) p

n(H,0) =

 H,O sLall Ayl RLSH e
M(H,0) = 2M(H) + M(0) = (2. 1) + 16 = 18 g/mol
DAy
0.5.18
V(H,0) = = 25 =0.009L =9mL
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